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The Great Gorilla Jump

A gorilla {wearing a parachute) jJumped off of the top of a building. We were able to record the
velocity of the gorilla with respect to time once each second. The data is shown below. Note

that he touched the ground just after 4 seconds.

Time (in seconds) | Velocity (in feet per second)
0 0

0.5 5

1 7

1.5 8

2 11

2.5 115

3 12

3.5 13

4 155

1. Approximate how far the gorilla fell during each half second interval and fill in the table

below,

Lot Hight Md P
Time interval {in seconds) | Approximate distance traveled
0-05 015 | 8.0 (055
05-1.0 505 | 305) [((a)-L3)
10— 1S T LB 1 §.05) [(3.9)(5)
1> 29 205 11005 1(4.5).(9)
20-25 00D TS (D) 1 (11,29)4(,5)
25-30 LAY | 1209 [(11,75)(3)
3073 1205 13087 [(2.5)(.5)
35-4.0 12 (9 1155000 (14.29)(9)

2. Approximate the total distance the gorilla fell from the time he jumped off the building
until the time he landed on the ground.

L= 2315
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3. Is your approximate an overestimate, and underestimate, or is it the exact value? How

can you tell? {you may want to try your hand at graphing...)
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